
All products are trademarks of Nostalgia Products Group, LLC.  
Worldwide design & utility patented or patents pending.  

Tous les produits sont des marques de Nostalgia Products Group, LLC. 
Brevet mondial de conception et d'invention ou brevets en attente. 

© 2012 Nostalgia Products Group, LLC.

www.nostalgiaelectrics.com

(rev. 04/18/13)

2013



H
D
C
5
1
0
C
O
K
E

Hot Dog Cart & Umbrella  
Chariot à hot-dog avec parasol 
Carrito con sombrilla de perros calientes
Instruction Manual 
Manuel d'utilisation 
Manual de instrucciones





E
N
G
LIS

H

2

Make every day a party!  
Visit www.nostalgiaelectrics.com for more fun products. 

CONTENTS
IMPORTANT PRECAUTIONS .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                              3

IMPORTANT SAFEGUARDS .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                              3

INTRODUCTION .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                     4

PARTS & ASSEMBLY .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                   5

HOW TO OPERATE .  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .    10

HELPFUL TIPS .  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .    11

CLEANING & MAINTENANCE  .  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .    11

RETURNS & WARRANTY .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                12
 

SAFETY

Appliance Specifications:
120 Volts, 60 Hertz 
1300 Watts, ETL Approved

Your safety and the safety of others is very important.

We have provided many important safety messages in this manual and 
on your appliance. Always read and obey all safety messages.

This is the safety alert symbol.

This symbol alerts you to potential hazards that 
can kill or hurt you and others.

All safety messages will follow the safety alert symbol.

All safety messages will tell you what the potential hazard is, tell you how to reduce the 
chance of injury, and tell you what can happen if the instructions are not followed.



E
N
G
LI
S
H

3

IMPORTANT PRECAUTIONS
1.	 NEVER immerse motor in water.

2.	 NEVER use an abrasive sponge or cloth on the exterior of the unit, as this will ruin the finish.

3.	 NEVER leave appliance unattended while in use.

4.	 NEVER place anything other than what is being cooked on the appliance.

5.	 Unplug unit from outlet when not in use and during cleaning.

6.	 DO NOT operate this appliance with a damaged cord or 
plug, nor if the appliance ever malfunctions.

7.	 DO NOT clean any parts of this unit in a dishwasher.

8.	 DO NOT store outdoors. Store in a garage or covered shed when not in use.

9.	 DO NOT touch hot surfaces. Use handles or knobs.

10.	 Do not let cord hang over edge of table or counter, or touch hot surfaces.

11.	 Do not place on or near a hot gas or electric burner, or in a heated oven.

12.	 To disconnect, turn any control to "OFF," then remove plug from wall outlet. 

13.	 This appliance is NOT A TOY. Keep out of reach of children.

14.	 Unsupervised young children and cognitively challenged 
individuals should never operate this appliance.

15.	 Young children should be supervised while in proximity of the 
appliance to ensure that they do not play with it.

IMPORTANT SAFEGUARDS
Basic safety precautions should always be followed when using 
electrical appliances, including the following:

1.	 Read all instructions before operating this appliance.

2.	 To protect against electrical shock do not immerse cord, plug or 
any part of this appliance in water or other liquids.

3.	 Close supervision is necessary when any appliance is used near children.  

4.	 Unplug from outlet when not in use, before removing parts and before cleaning.

5.	 DO NOT operate any appliance with a damaged cord or plug, nor if 
the appliance has been damaged in any manner. Return the appliance 
to the nearest repair shop for examination or repair.

6.	 The manufacturer does not recommend the use of accessory 
attachments. Use of accessory attachments may cause injuries.

7.	 Position the appliance as close to the outlet as possible 
to prevent injury due to tripping over cord.

8.	 Extreme caution must be used when moving this appliance.

9.	 DO NOT use the appliance for other than its intended use.

10.	 Remove all food and water from cart before moving or storing. 
 
 

11.	 An appliance that is plugged into an outlet should not be left unattended while in operation.



E
N
G
LIS

H

4

12.	 DO NOT attempt to disassemble the motor of this unit. Electrical shock or fire may 
occur as a result of tampering with the motor.

13.	 A short power supply cord is provided to reduce the risk of 
becoming entangled or tripping over a long cord.

14.	 Longer detachable power supply cords can be used if care is exercised in their use. 

15.	 The marked electrical rating of an extension cord should be at 
least as great as the electrical rating of the appliance.

16.	 This appliance must be grounded. Connect only to properly grounded outlet.

17.	 The voltage and frequency of this product should be 120V, 60Hz. 
Contact an authorized service technician if the wire is damaged.

SAVE THESE INSTRUCTIONS!
INTRODUCTION
Thank you for purchasing the Vintage Collection Hot Dog Cart & Umbrella. This durable, 
enameled-steel cart has a great vintage feel, and is perfect for any casual gathering. 
Grill a variety of your favorite foods, including hot dogs, hamburgers, sausages 
and more. The Warming Tray keeps food hot and ready to serve. Fill the included 
Beverage Chiller with ice to keep drinks cold and on hand. The Vintage Collection 
Hot Dog Cart & Umbrella is a complete solution to all your casual cooking needs!

FEATURES
•	 Grill Pan ideal for cooking hot dogs, sausages, burgers, chicken and more.

•	 Warming Tray for heating and serving a variety of foods. 

•	 Convenient Beverage Chiller for cold drinks.

•	 Side shelf trays for condiments with convenient pull bar handles.

•	 Removable folding sun umbrella.

•	 Portable and easy to move. 

•	 Easy to use and clean.

•	 Grill Pan thermostat control.



E
N
G
LI
S
H

5

PARTS & ASSEMBLY
Hardware

 
	 #1 Bolt (10mm)	 #2 Bolt (60mm)  	 #3 Flat Washer (6mm)       	 #4 Flat Washer (8mm)	
	 Qty. 14	 Qty. 6	 Qty. 14	 Qty. 14

	 #5 Locking Washer	 #6 Nut Cap	 #7 Nut
	 Qty. 6	 Qty. 6	  Qty. 4 

			             
					   
			 

	

	 #8 Sleeve Barrel	   
	 Qty. 2	  

		   
		

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页
#1 Bolt(10mm)

Qty.14
#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页



E
N
G
LIS

H

6

Parts

 

	 (A) Main Unit	 (B) Warming Tray Lid	 (C) Warming Tray	 (D) Splash Guard
			    	

			 

	 (E) Grill Pan 	 (F) Grease Catcher	 (G) Beverage Chiller 	 (H) Wheel

	 (I) Leg Assembly	 (J) Base Support	 (K) Push Handle	 (L) Cross Bar

	 (M) Umbrella	 (N) Wrenches



E
N
G
LI
S
H

7

ASSEMBLY OF MAIN UNIT 

1.	 Push Handle (K) attaches onto the left side of the Main Unit (A) using four #1 Bolts and four 
#3 Flat Washers. Lock the handle into place by placing four #7 Nuts on the inside of the Main 
Unit (A). 
 
Push Handle (K) attaches onto the right side of the Main Unit 
(A) using four #1 Bolts and four #3 Flat Washers.

2.	 Insert Cross Bar (L) into the square inserts on the inside of Base Support (J) and secure 
from below with two #1 Bolts and two #3 Flat Washers. Insert the Leg Assembly (I) over the 
protruding ends of the Base Support (J) and fasten from the outside of Base Support (J) 
going inward using four #2 Bolts, eight #4 Flat Washers, four #5 Locking Washers and four #6 
Nut Caps.   
 
 

 
 
 
 
 
 



E
N
G
LIS

H

8

3.	 Assemble Base Support (J) into the bottom of the Main Unit (A) and secure with four #1 
Bolts and four #3 Flat Washers. 
 

 
ASSEMBLY OF WHEELS

1.	 Place #4 Flat Washer onto #2 Bolt and insert into pre-
drilled hole on inside of Base Support (J). 

2.	 Put #4 Flat Washer and #8 Sleeve Barrel on end of inserted #2 Bolt.	  	

3.	 Attach the Wheel (H) to the #2 Bolt. Place #4 Flat Washer and #5 Locking Washer on 
Wheel (H). Use the end of the Wrench (N) with small notch to hold the #2 Bolt in 
place. While holding #2 Bolt in place, tighten the #6 Nut Cap with Wrench (N).

4.	 Repeat on other side, following the directions above. 

(#4)
Flat

Washer

(#2)
Bolt

(#4)
Flat

Washer

(H)
Wheel

(#8)
Sleeve
Barrel

(#5)
Locking
Washer

(#6)
Nut Cap



E
N
G
LI
S
H

9

ASSEMBLY OF ACCESSORIES

1.	 Place the Warming Tray (C) into the space on the top left of the 
Main Unit (A). Cover with the Warming Tray Lid (B).

2.	 Insert the Grease Catcher (F), Grill Pan (E) and Splash Guard (D) into 
the right-hand section on the top of the Main Unit (A). 

3.	 Insert the Umbrella (M) into the hole on the top of the Main Unit (A).

4.	 Put the Beverage Chiller (G) in the frame on the bottom of the Base Support (J) underneath 
the Main Unit (A). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



E
N
G
LIS

H

10

HOW TO OPERATE
Before first use, wash the Warming Tray, Warming Tray Lid, Grill Pan, Splash Guard 
and Beverage Chiller with a non-abrasive cloth or sponge in warm, soapy water. 
Rinse and dry thoroughly. Clean the rest of the unit by wiping with a moist, non-
abrasive sponge, towel or cloth and then wipe with a non-abrasive dry towel.

1.	 First, find a flat surface near an electrical outlet before starting. Make sure your cord 
is away from any water source. It is acceptable to use an extension cord if needed.

2.	 Gather and prepare the ingredients for the food to be cooked.

3.	 Plug in the appliance while all switches are flipped to OFF "O" position.

4.	 To use the Grill Pan, turn the left-hand switch on the back of the unit to the ON "1" 
position. (See illustration below for location of switches.) Adjust the Thermostat to your 
desired temperature. Allow the Grill Pan to preheat for a minimum of 10 minutes.

5.	 Place food (hot dogs, sausages, hamburgers, chicken breasts, etc.) on the Grill Pan. Cook 
completely, turning once. The cooking time will vary depending on ingredients. 

6.	 To use the Warming Tray, turn the right-hand switch on the back of the unit 
to the ON "1" position. Allow to preheat for a minimum of 10 minutes. 

7.	 Place your desired food in the Warming Tray and cover with 
the Warming Tray Lid. Heat until ready to serve.

8.	 You may choose to use the Grill Pan and Warming tray individually or simultaneously.

9.	 Fill the Beverage Chiller with ice and place under the Main Unit. 
Place your favorite canned or bottled drinks in the ice.

10.	 Once cooking is completed, flip all switches to the OFF "O" position, turn the thermostat to 
the lowest setting and unplug the unit. 
 
 
POWER & HEAT SELECTION CONTROL PANEL
 
 
 
 
 
 
 
POWER & HEAT SELECTION CONTROL PANELLeft: 

Grill Pan  
Heat Switch

Right:  
Warming Tray 
Heat Switch

Center: 
Thermostat



E
N
G
LI
S
H

11

HELPFUL TIPS
•	 Using warming tray: 

You may fill the warming tray with foods like chili, potatoes, 
sauerkraut, etc. Allow approximately 10 minutes to preheat.

Put buns or other bread into Warming Tray about 5 minutes before you are 
ready to serve. Placing bread in the tray too early can cause it to harden.

You can also use the Warming Tray to boil hot dogs. Simply put a small amount of 
water into the warming food tray, add hot dogs and boil. Hot dogs should boil for at 
least 8 - 10 minutes until they reach an internal temperature of 160 - 180 degrees F.

•	 Preventing condensation build-up on outside of cart:
Cool air striking the warm unit's surface may cause moisture 
accumulation. Protect the unit against cool drafts of air. 

•	 Preventing burst hot dog casings: 
Casings will burst if cooking temperature is too high. Turn the 
thermostat control to a lower setting if this becomes an issue.

CLEANING & MAINTENANCE 
1.	 Ensure all switches are OFF ("O") and the thermostat is set at the lowest temperature.  

2.	 Make sure appliance is unplugged and COMPLETELY COOL before cleaning.

3.	 Wash the Warming Tray, Warming Tray Lid, Grill Pan, Splash Guard and Beverage Chiller 
with a non-abrasive cloth or sponge in warm, soapy water. Rinse and dry thoroughly.

4.	 DO NOT clean any parts of this unit in a dishwasher.

5.	 Use slightly damp, non-abrasive sponge, towel or cloth to wipe down the inside 
and outside of Main Unit, then wipe with a non-abrasive towel to dry.

6.	 To preserve and maintain the life of your Hot Dog Cart and Umbrella, 
always cover your cart unit after each use. DO NOT store this unit outside. 
Always store your cart in garage or covered shed when not in use.



E
N
G
LIS

H

12

RETURNS & WARRANTY
SHOULD YOUR UNIT NOT WORK OR IF DAMAGED WHEN YOU FIRST TAKE IT OUT 
OF THE BOX, PLEASE RETURN IT TO THE PLACE OF PURCHASE IMMEDIATELY.

VINTAGE COLLECTION HOT DOG CART & UMBRELLA / HDC510COKE

Should you have any questions, please contact us via email or at the 
customer service number listed below between the hours of 8:00 AM 
and 5:00 PM, Monday through Friday, Central Standard Time. 

Distributed by:

Nostalgia Products Group LLC 
1471 Partnership Dr. 
Green Bay, WI 54304-5685 
Customer Service 
Phone: (920) 347-9122 
Web: www.nostalgiaelectrics.com

Customer Service Inquiry

To submit a Customer Service inquiry, go to www.nostalgiaelectrics.com and 
fill out the Customer Service Inquiry form and click the Submit button.

A representative will contact you as soon as possible.

This appliance is designed and built to provide many years of satisfactory performance 
under normal household use. The distributor pledges to the original owner that 
should there be any defects in material or workmanship during the first 90 days of 
purchase, we will repair or replace the unit at our option. Our pledge does not apply 
to damages caused by shipping, mishandling or unit being dropped. A product 
deemed defective either from manufacturing or being mishandled is subject to the 
distributor’s discretion. In order to obtain service under this warranty, please contact 
Nostalgia Products Group, LLC at the telephone number listed above or by filling 
out the Customer Service Inquiry Form located at www.nostalgiaelectrics.com.

This product is not recommended for use outside of North America. The warranty 
is void if products are exported outside of the USA, Canada or Mexico. 

This warranty does not apply to re-manufactured merchandise.

Please read these instructions carefully. Failure to comply with these instructions, 
damages caused by improper replacement parts, abuse or misuse will void this 
pledge to you and is being made in place of all other expressed warranties.

For more information, visit us online at www.nostalgiaelectrics.com. 
 
Like us on Facebook at www.facebook.com/NostalgiaElectrics. 
Follow our boards on Pinterest at www.pinterest.com/nostalgiaelctrx. 
Tweet along with us on Twitter at www.twitter.com/NostalgiaElctrx. 





14

FR
A
N
Ç
A
IS

14

Une fête tous les jours! Visiter le site Web www.
nostalgiaelectrics.com pour d'autres produits amusants. 

TABLE DES MATIÈRES
PRÉCAUTIONS IMPORTANTES .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                            15

MISES EN GARDE SÉCURITAIRES IMPORTANTES .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                 15

INTRODUCTION .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                     16

PIÈCES ET ASSEMBLAGE .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                17

COMMENT FAIRE FONCTIONNER .  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .    22

CONSEILS PRATIQUES .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                 23

NETTOYAGE ET ENTRETIEN.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .    23

RETOURS DE LA MARCHANDISE ET GARANTIES .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                 24
 

SÉCURITÉ

Fiche technique du produit :
120 volts, 60 Hz 
1300 watts, homologuée par ETL

Votre sécurité et celle des autres sont très importantes.

De nombreux messages de sécurité importants sont donnés dans le présent manuel 
concernant cet appareil. Toujours lire et respecter toutes les consignes de sécurité.

Ceci est le symbole d'avertissement de sécurité.

Ce symbole avertit des risques potentiels, pouvant entraîner 
la mort ou des blessures, à vous-même et à d'autres.

Tous les messages de sécurité suivront le symbole d'avertissement de sécurité.

Tous les messages de sécurité indiqueront le danger potentiel et la façon de réduire 
le risque de blessure et ce qui peut arriver si les consignes ne sont pas suivies.



15

FR
A
N
Ç
A
IS

15

PRÉCAUTIONS IMPORTANTES
1.	 NE JAMAIS plonger le moteur dans l'eau.

2.	 NE JAMAIS utiliser aucun(e) éponge ou chiffon abrasi(f )
ve sur l'extérieur de l'appareil; ceci abîmera le fini.

3.	 NE JAMAIS laisser l'appareil sans surveillance en cours d'utilisation.

4.	 NE JAMAIS mettre à cuire autre chose que les aliments de cuisson dans l'appareil.

5.	 Débrancher l'appareil de la prise murale lorsqu'il n'est pas utilisé ou qu'il est nettoyé.

6.	 NE PAS faire fonctionner cet appareil lorsque la prise ou le cordon est 
endommagé(e) ou qu'il ne fonctionne pas correctement.

7.	 NE PAS nettoyer quelque pièce de cet appareil au lave-vaisselle.

8.	 NE PAS ranger à l'extérieur. Entreposer dans un garage ou 
une remise couverte lorsqu'il n'est pas utilisé.

9.	 NE PAS toucher les surfaces chaudes. Utiliser les poignées ou les boutons.

10.	 Ne laissez pas le cordon pendre de la table ou du comptoir, ni toucher des surfaces chaudes.

11.	 Ne pas placer sur ou près d'un brûleur à gaz ou électrique, ni dans un four chaud.

12.	 Pour débrancher, mettre toutes les commandes sur «OFF», 
puis retirez la fiche de la prise murale.

13.	 Cet appareil n'est PAS UN JOUET. Tenir hors de portée des enfants.

14.	 Les enfants laissés sans surveillance et les personnes ayant une 
déficience cognitive ne devraient jamais utiliser cet appareil.

15.	 Les jeunes enfants qui sont à proximité de l'appareil ne devraient pas être 
laissés sans surveillance pour s'assurer qu'ils ne jouent pas avec celui-ci.

MISES EN GARDE SÉCURITAIRES 
IMPORTANTES
Des mesures de précaution de base devraient toujours être suivies 
au moment de l'utilisation d'appareil électrique, y compris :

1.	 Lire toutes les consignes avant d'utiliser cet appareil.

2.	 Pour éviter l'électrisation, ne pas immerger le cordon, la prise ou 
quelque pièce de cet appareil dans l'eau ou autre liquide.

3.	 La surveillance étroite des enfants est nécessaire lorsque quelque 
appareil électrique est utilisé à leur proximité.

4.	 Débrancher de la prise murale lorsqu'il n'est pas utilisé, 
avant de retirer des pièces ou de le nettoyer.

5.	 NE PAS faire fonctionner l'appareil lorsque le cordon ou la prise est 
endommagé(e) ou qu'il a été endommagé de quelque façon. Retourner l'appareil 
à l'atelier de réparation le plus près pour qu'il soit révisé ou réparé.

6.	 Le fabricant ne recommande l'utilisation d'aucun accessoire. 
L'utilisation d'un accessoire pourra provoquer des blessures.

7.	 Placer l'appareil le plus près possible d'une prise de courant 
pour éviter de se blesser en trébuchant sur le cordon.

8.	 Faire preuve d'une extrême prudence au moment de déplacer le présent appareil.



16

FR
A
N
Ç
A
IS

16

9.	 NE PAS utiliser l'appareil à une autre fin que celle pour laquelle il est prévu.

10.	  Retirer tous les aliments et l'eau du chariot avant de le déplacer ou de le ranger.

11.	 Un appareil qui est branché dans une prise de courant ne devrait pas être 
laissé sans surveillance lorsqu'il est en cours de fonctionnement.

12.	 NE PAS essayer de déposer le moteur de cet appareil. Une électrisation ou un 
incendie pourra se produire en raison de l'altération du moteur.

13.	 Un cordon d'alimentation court est prévu pour diminuer le risque d'emmêlement 
ou de trébuchement que pourrait causer un cordon plus long.

14.	 Un cordon d'alimentation amovible plus long peut être utilisé, mais avec prudence.

15.	 La puissance nominale électrique indiquée d'une rallonge 
devrait être aussi élevée que celle de l'appareil.

16.	 Le présent appareil comporte une fiche à trois broches. Pour diminuer le risque 
d'électrisation, la présente fiche est prévue pour ne s'insérer dans une prise polarisée que 
d'une façon. Ne pas tenter de la modifier de quelque façon. Le présent appareil doit être 
mis à la terre. Ne raccorder qu'à une prise de courant mise à la terre de façon appropriée.

17.	 La tension et la fréquence de ce produit doivent être de 120 V, 60 Hz. Communiquer 
avec un technicien agréé si le cordon d'alimentation est endommagé.

CONSERVEZ CES INSTRUCTIONS !
INTRODUCTION
Merci d'avoir acheté le Chariot à hot-dog avec parasol de la collection d'antan. Ce 
chariot en acier émaillé, robuste, d'antan, est parfait pour les évènements désinvolte. 
Il permet de faire griller une variété d'aliments de son choix, y compris les hot-
dogs, les hamburgers, les saucisses et plus encore. Le Chauffe-plat les maintient 
chauds et prêts à servir. Remplir le Refroidisseur de boisson de glace pour garder 
les boissons froides et à portée de main. Le Chariot à hot-dog avec parasol de la 
collection d'antan est une solution complète pour toute cuisson désinvolte!

FONCTIONNALITÉS
•	 La Poêle gril est idéale pour faire cuire les hot-dogs, les saucisses, 

les hamburgers, les poitrines de poulet et plus encore.

•	 Chauffe-plat pour faire réchauffer et servir une variété d'aliments.

•	 Refroidisseur de boisson pratique pour les boissons froides.

•	 Plateaux étagères latérales pour les condiments avec poignées de tirage pratiques.

•	 Parasol pliable amovible.

•	 Portable - facile à déplacer. 

•	 Facile à utiliser et facile à nettoyer.

•	 Thermostat de contrôle de la Poêle gril.



17

FR
A
N
Ç
A
IS

17

PIÈCES ET ASSEMBLAGE
Quincaillerie

 
	 Nº 1 Boulon (10mm)	 Nº 2 Boulon (60mm)  	 Nº 3 Rondelle plate       	  Nº 4 Rondelle plate 	
	 Qté 14	 Qté 6	 (6mm) Qté 14	 (8mm) Qté 14

	 Nº 5 Rondelle frein 	 Nº 6 Cache-écrou	    Nº 7 Écrou 
	 Qté 6	 Qté 6	 Qté 4 

			             
					   
			 

	

	 Nº 8 Douille 	   
	 Qté 2	  

		   
		

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页
#1 Bolt(10mm)

Qty.14
#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页



18

FR
A
N
Ç
A
IS

18

Pièces

 

	 (A) Appareil principal	 (B) Couvercle du	 (C) Chauffe-plat	 (D) Pare-éclaboussures
		  Chauffe-plat	  	

			 

	 (E) Poêle gril 	 (F) Bac à graisse	 (G) Refroidisseur 	 (H) Roue
				    de boisson

 

	 (I) Élément inférieur	 (J) Socle	 (K) Poignée-poussoir	 (L) Barre transversale

	 (I) Parasol	 (J) Clés



19

FR
A
N
Ç
A
IS

19

ASSEMBLAGE
1.	 La Poignée-poussoir (K) se fixe du côté gauche de l'Appareil principal (A) à l'aide de quatre 

Boulons nº 1 et de quatre Rondelles plates nº 3. Verrouiller la poignée en place en posant 
quatre Écrous nº 7 à l'intérieur de l'Appareil principal (A). 
 
La Poignée-poussoir (K) se fixe du côté droit de l'Appareil principal (A) à 
l'aide de quatre Boulons nº 1 et de quatre Rondelles plates nº 3.

2.	 Insérer la Barre transversale (L) dans les écrous rapportés carrés à l'intérieur du Socle (J) et 
la fixer solidement par le dessous à l'aide de deux Boulons n  1 et de deux Rondelles plates 
Nº 3. Insérer l'Élément inférieur (I) sur les extrémités saillantes du Socle (J), puis fixer à partir 
de l'extérieur du Socle (J) vers l'intérieur, à l'aide de quatre boulons nº 2, de huit Rondelles 
plates nº 4, de quatre Rondelles freins nº 5 et de quatre Cache-écrous nº 6.   
 
 
 

 
 
 
 
 
 



20

FR
A
N
Ç
A
IS

20

3.	 Assembler le Socle (J) dans le fond de l'Appareil principal (A), puis fixer solidement à l'aide 
de quatre Boulons nº 1 et de quatre Rondelles plates nº 3. 

ASSEMBLAGE DES ROUES

1.	 Poser une Rondelle plate nº 4 sur un Boulon n  2, puis insérer 
dans le trou prépercé à l'intérieur du Socle (J). 

2.	 Poser une Rondelle plate nº 4 et une Douille nº 8 à l'extrémité du 
Boulon nº 2 inséré.	  	

3.	 Fixer la Roue (H) sur le Boulon nº 2. Poser une Rondelle plate nº 4 et une 
Rondelle frein nº 5 sur la Roue (H). Utiliser l'extrémité de la Clé (N) avec petite 
encoche pour maintenir le Boulon nº 2 en place. Tout en maintenant le 
Boulon nº 2 en place, serrer le Cache-écrou nº 6 à l'aide de la Clé (N).

4.	 Refaire la même chose de l'autre côté, en suivant les consignes susmentionnées. 

(Nº 4)
Rondelle 

plate

(Nº 2)
Boulon

(Nº 4)
Rondelle 

plate

(H)
Roue

(Nº 8)
Douille

(Nº 5)
Rondelle 

frein

(Nº 6)
Cache-
écrou



21

FR
A
N
Ç
A
IS

21

ASSEMBLAGE DES ACCESSOIRES

1.	 Poser le Chauffe-plat (C) dans l'espace en haut à gauche de l'Appareil 
principal (A). Couvrir à l'aide du Couvercle du Chauffe-plat (B).

2.	 Insérer le Bac à graisse (F), la Poêle gril (E) et le Pare-éclaboussures (D) 
dans la section de droite sur le dessus de l'Appareil principal (A). 

3.	 Insérer le Parasol (M) dans le trou sur le dessus de l'Appareil principal (A).

4.	 Poser le Refroidisseur de boisson (G) dans l'armature au fond du Socle (J) sous l'Appareil 
principal (A). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



22

FR
A
N
Ç
A
IS

22

COMMENT FAIRE FONCTIONNER
Avant la première utilisation, laver le Chauffe-plat, le Couvercle du Chauffe-plat, la Poêle 
gril, le Pare-éclaboussures et le Refroidisseur de boisson à l'eau chaude savonneuse, à 
l'aide d'un chiffon ou d'une éponge non abrasi(f )ve. Rincer, puis essuyer soigneusement. 
Essuyer le reste de l'appareil à l'aide d'une éponge, d'une serviette ou d'un chiffon 
humide non abrasi(f )ve, puis assécher à l'aide d'une serviette sèche, non abrasive.

1.	 Premièrement, trouver une surface plane près d'une prise murale avant 
de le démarrer. S'assurer que le cordon est éloigné de toute source 
d'eau. L'utilisation d'une rallonge est acceptable, le cas échéant.

2.	 Réunir et préparer les ingrédients pour la cuisson des aliments.

3.	 Brancher l'appareil alors que tous les interrupteurs sont à la position « O » OFF (hors tension).

4.	 Pour utiliser la Poêle gril, tourner l'interrupteur de gauche à l'arrière de l'appareil à 
la position « 1 » ON (sous tension). (Voir l'illustration ci-dessous pour l'emplacement 
des interrupteurs.) Régler le Thermostat à la température de cuisson désirée. 
Laisser la Poêle gril préchauffer pendant un minimum de 10 minutes.

5.	 Placer les aliments (hot-dogs, saucisses, hamburgers, poitrines de poulet, 
etc.) sur la Poêle gril. Faire cuire entièrement, en les retournant une 
fois. Le temps de cuisson variera en fonction des ingrédients.

6.	 Pour utiliser le Chauffe-plat, tourner l'interrupteur de droite à l'arrière de l'appareil à la 
position « 1 » ON (sous tension). Laisser préchauffer pendant un minimum de 10 minutes.

7.	 Placer les aliments désirés dans le Chauffe-plat, puis couvrir à l'aide du 
Couvercle du Chauffe-plat. Réchauffer jusqu'au moment de servir.

8.	 Choisir également d'utiliser la Poêle gril et le Chauffe-
plat individuellement ou simultanément.

9.	 Remplir le Refroidisseur de boisson de glace, puis placer sous l'Appareil principal 
(A). Placer les boissons en conserve ou en bouteille de son choix sur la glace.

10.	 Une fois la cuisson terminée, remettre tous les interrupteurs à la position « O » OFF (hors 
tension), tourner le thermostat à la position la plus basse, puis débrancher l'appareil. 
 
 
TABLEAU DE COMMANDE DE L'ALIMENTATION ET DE LA CHALEUR
 

Gauche : 
Interrupteur 

de chaleur de 
la Poêle gril

Droite :  
Interrupteur 
du Chauffe-

plat

Centre :
Thermostat

 



23

FR
A
N
Ç
A
IS

23

CONSEILS PRATIQUES
•	 Utilisation du chauffe-plat. 

Remplir le chauffe-plat d'aliments comme le piment, les pommes de terre, 
la choucroute, etc. Laisser préchauffer pendant environ 10 minutes.

Mettre les petits pains ou le pain dans le Chauffe-plat pendant environ 5 minutes, jusqu'au 
moment de servir. Les placer dans le Chauffe-plat trop tôt les fera durcir le pain.

Utiliser également le Chauffe-plat pour faire bouillir les hot-dogs. Mettre simplement 
une petite quantité d'eau dans le Chauffe-plat, y ajouter les saucisses, puis faire bouillir. 
Les hot-dogs devraient bouillir pendant au moins 8 à 10 minutes jusqu'à ce qu'ils 
atteignent une température interne entre 71 et 82 degrés C (160 à 180 degrés F).

•	 Condensation accumulée à l'extérieur du chariot.
L'air froid à la surface de l'appareil chaud pourra provoquer une accumulation 
d'humidité. Protéger l'appareil contre les courants d'air froid. 

•	 Éclatement du boyau des hot-dogs. 
La température est trop élevée. Abaisser la température du thermostat.

NETTOYAGE ET ENTRETIEN 
1.	 S'assurer que tous les interrupteurs sont en position « O » OFF (hors tension) 

et que le thermostat est réglé à la température la plus basse.  

2.	 S'assurer que l'appareil est débranché et COMPLÈTEMENT REFROIDI avant de le nettoyer.

3.	 Laver le Chauffe-plat, le Couvercle du Chauffe-plat, la Poêle gril, le Pare-éclaboussures 
et le Refroidisseur de boisson à l'eau chaude savonneuse, à l'aide d'un chiffon 
ou d'une éponge non abrasi(f )ve. Rincer, puis essuyer soigneusement.

4.	 NE PAS nettoyer quelque pièce de cet appareil au lave-vaisselle.

5.	 Utiliser une éponge, une serviette ou un chiffon légèrement humide, non 
abrasif(ve) pour essuyer l'intérieur et l'extérieur de l'Appareil principal, 
puis l'assécher à l'aide d'une serviette sèche non abrasive.

6.	 Pour préserver et prolonger la durée de vie du Chariot à hot-dog avec parasol, 
toujours couvrir l'appareil après chaque utilisation. NE PAS le ranger à l'extérieur. 
Entreposer dans un garage ou une remise couverte lorsque Chariot n'est pas utilisé.



24

FR
A
N
Ç
A
IS

24

RETOURS DE LA MARCHANDISE ET GARANTIES
SI L'APPAREIL FONCTIONNE PAS OU S'IL EST ENDOMMAGÉ AU MOMENT DE LE 
SORTIR DE SON EMBALLAGE, LE RETOURNER IMMÉDIATEMENT AU LIEU D'ACHAT.

CHARIOT À HOT-DOG AVEC PARASOL DE LA COLLECTION D'ANTAN / HDC510

Pour toutes autres questions pertinentes, veuillez contacter le service à la 
clientèle soit par courriel ou au numéro de service tel qu'indiqué ci-bas, 
entre 8h00 et 17h00, du lundi au vendredi, heure normale de l'est. 

Distribué par :

Nostalgia Products Group, LLC  
1471, Boul. Partnership  
Green Bay, WI 54304-5685  
Service à la clientèle  
Téléphone : (920) 347-9122  
Site Internet : www.nostalgiaelectrics.com

Question pour le service à la clientèle

Pour soumettre une question au service à la clientèle, veuillez visiter 
le site www.nostalgiaelectrics.com et remplir un formulaire destiné 
au service à la clientèle puis cliquer sur la touche Soumettre.

Un représentant vous contactera sous peu.

Cet appareil est conçu pour offrir plusieurs années d'utilisation de performance satisfaisante, 
et ce, sous de conditions normales d'utilisation. Le grossiste nantit que le propriétaire 
d'origine se doit de faire réparer ou changer l'appareil à notre discrétion, advenant le cas de 
défectuosités des matériaux ou des pièces durant les 90 premiers jours en date d’achat de 
l’appareil neuf. Notre nantissement ne s'applique aucunement sur les dommages causés 
par le transport, une mauvaise utilisation de l'appareil ou le fait d'échapper l'appareil. Un 
produit réclamé défectueux, soit suite à sa fabrication ou une mauvaise utilisation sera 
évaluée à l’entière discrétion du grossiste. Afin que la garantie couvre ce produit, veuillez 
contacter Nostalgia Products Group, LLC au numéro de téléphone suivant ou en remplissant 
un formulaire de question destine au service à la clientèle situé sur le site Internet : www.
nostalgiaelectrics.com. Cette garantie ne s’applique aucunement à la marchandise ré-usinée.

Lire ces instructions attentivement. Le manque de vous conformer à ces 
instructions, de tous dommages causés par un remplacement erroné des pièces, 
l’abus ou mauvaise utilisation de l’appareil annulera toute promesse faite à 
votre égard, et prévaudra sur toute autre garantie, implicite ou expresse.

Pour plus d’informations, visitez notre site Web à www.nostalgiaelectrics.com.

Aimez-nous sur Facebook à l’adresse www.facebook.com / NostalgiaElectrics.
Suivez nos conseils sur Pinterest à www.pinterest.com / nostalgiaelctrx.
Tweet avec nous sur Twitter à l’adresse www.twitter.com / NostalgiaElctrx.



25

E
S
P
A
Ñ
O
L

25



26

E
S
P
A
Ñ
O
L

26

¡Haga una fiesta de cada día! 
Visite www.nostalgiaelectrics.com para 

ver más productos divertidos.  

ÍNDICE
PRECAUCIONES IMPORTANTES .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                           27

MEDIDAS DE SEGURIDAD IMPORTANTES .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                     27

INTRODUCCIÓN .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                     28

PIEZAS Y ENSAMBLAJE.  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                 29

FUNCIONAMIENTO .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                                   34

CONSEJOS ÚTILES .  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .    35

LIMPIEZA Y MANTENIMIENTO .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                            35

DEVOLUCIONES Y GARANTÍA.  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .  .                             36
 

SEGURIDAD

Especificaciones del aparato: 
120 Volts, 60 Hertz 
1300 Watts, aprobado por ETL

Su seguridad y la de los demás son muy importantes.

En este manual y en el aparato hemos incluido numerosos mensajes referentes 
a la seguridad. Lea y siga siempre todos los mensajes de seguridad.

Este es el símbolo de aviso de seguridad.

Este símbolo le avisa de peligros potenciales que podrían 
causar la muerte o lesionarle a usted y a otros.

Todos los mensajes de seguridad seguirán al símbolo de aviso de seguridad.

Todos los mensajes de seguridad le informarán acerca de peligros 
potenciales, cómo reducir la posibilidad de lesionarse y le dirán 
lo que puede ocurrir si no se siguen las instrucciones.



27

E
S
P
A
Ñ
O
L

27

PRECAUCIONES IMPORTANTES
1.	 No sumerja NUNCA el motor en agua.

2.	 NUNCA use una esponja o paño abrasivos en el exterior de 
la unidad, ya que estos arruinarían el acabado. 

3.	 No deje NUNCA el aparato desatendido mientras esté en funcionamiento.

4.	 No coloque NUNCA ninguna otra cosa que no sea lo que se está cocinando en el aparato.

5.	 Desconecte el aparato de la toma de corriente cuando no lo esté utilizando y para limpiarlo.

6.	 NO opere este aparato con un cable o enchufe dañados, ni si funciona incorrectamente.

7.	 NO introduzca ningún componente de la unidad en un lavavajillas.

8.	 NO lo utilice en exteriores.

9.	 NO lo guarde en exteriores. Guárdelo en un garaje o 
cobertizo cubierto cuando no esté en uso.

10.	 Este aparato NO ES UN JUGUETE. Manténgalo fuera del alcance de los niños.

11.	 Este aparato no debe ser operado nunca por niños o personas 
con limitaciones cognitivas que no estén supervisados. 

12.	 Se debe supervisar a los niños mientras estén cerca del aparato 
para asegurarse de que no jueguen con el mismo.

13.	 NO toque las superficies calientes. Use las asas o las perillas.

14.	 No permita que el cable cuelgue del borde de la mesa o 
mostrador, ni que toque superficies calientes.

15.	 No lo coloque sobre o cerca de una hornilla de gas o eléctrica o en un horno caliente.

MEDIDAS DE SEGURIDAD IMPORTANTES
Cuando utilice aparatos eléctricos debe seguir siempre las 
precauciones básicas de seguridad, entre las que se incluyen:

1.	 Lea todas las instrucciones antes de utilizar este aparato.

2.	 Como medida de protección contra el riesgo de descarga eléctrica, no sumerja el 
cable, los enchufes ni ninguna otra parte del aparato en agua ni en otros líquidos.

3.	 Cuando cualquier aparato se utilice cerca de niños, es necesaria una supervisión estrecha.

4.	 Desenchufe el aparato de la red cuando no lo esté utilizando, 
antes de retirar piezas y antes de su limpieza.

5.	 NO utilice ningún aparato con el cable o el enchufe dañados, ni si el 
aparato se ha dañado de cualquier manera. Devuelva el aparato al 
taller de reparación más cercano para su examen o reparación.

6.	 El fabricante no recomienda el uso de implementos accesorios. El 
uso de implementos accesorios puede provocar lesiones.

7.	 Posicione el aparato tan cerca de la toma de corriente como sea 
posible para evitar lesiones por tropezar con el cable.

8.	 Debe tenerse extrema precaución cuando se mueva este aparato.

9.	 NO utilice el aparato para otro uso que no sea el cual para el que está destinado.

10.	 Retire del carrito todos los alimentos y el agua antes de moverlo o guardarlo. 



28

E
S
P
A
Ñ
O
L

28

11.	 Un aparato que esté conectado a una toma de corriente no debe 
dejarse sin atención mientras esté funcionando.

12.	 NO intente desarmar el motor de esta unidad. Si se manipula el motor pueden 
ocurrir choques eléctricos o incendios.

13.	 Se proporciona un cable de alimentación corto para reducir el 
riesgo de enredarse o tropezar con un cable largo.

14.	 Pueden usarse cables de alimentación desmontables 
más largos si se tiene cuidado al utilizarlos.

15.	 Las características nominales del cable de extensión 
deben ser al menos iguales a las del aparato.

16.	 Este aparato tiene un enchufe de tres espigas. Para reducir el riesgo de descarga 
eléctrica, este enchufe se ha diseñado para ser introducido en una toma de corriente 
sólo de una forma. No modifique el enchufe en forma alguna. Este aparato debe 
conectarse a tierra. Conéctelo solamente a una toma de corriente conectada a tierra.

17.	 La tensión y la frecuencia de este producto deben ser 120 V y 60 Hz, respectivamente. 
Contacte un técnico de servicio autorizado si el cableado está dañado.

¡GUARDE ESTAS INSTRUCCIONES!
INTRODUCCIÓN
Gracias por comprar el Carrito con Sombrilla de Perros Calientes de la Colección 
Vintage. Este carrito duradero de acero esmaltado tiene un gran espíritu retro y es 
perfecto para reuniones en exteriores. Confeccione a la parrilla una variedad de 
sus alimentos favoritos, incluyendo perros calientes, hamburguesas, salchichas y 
más. La Bandeja de Calentamiento mantiene los alimentos calientes y listos para 
servir. Llene con hielo el Enfriador de Bebidas que se incluye para mantener las 
bebidas frías y a mano. ¡El Carrito con Sombrilla de Perros Calientes de la Colección 
Vintage es una solución completa para todas sus necesidades de cocción!

FEATURES
•	 Sartén rectangular ideal para cocinar perros calientes, 

salchichas, hamburguesas, pollo y más. 

•	 Bandeja de calentamiento para cocinar y servir una variedad de alimentos. 

•	 Enfriador de bebidas cómodo para bebidas frías. 

•	 Anaqueles laterales para condimentos con cómodas agarraderas para su extracción. 

•	 Sombrilla plegable desmontable.

•	 Portátil y fácil de mover.  

•	 Fácil de usar y limpiar. 

•	 Termostato para el control de la Sartén rectangular.



29

E
S
P
A
Ñ
O
L

29

PIEZAS Y ENSAMBLAJE
Hardware

 
	 No. 1 Perno (10 mm) 	 No. 2 Perno (60mm)  	       	
 	 Cant. 14	 Cant. 6	 Cant. 14	 Cant. 14

	No. 5 Arandela de presión	No. 6 Tapa de tuerca	 No. 7 Tuerca
	 Cant. 6	 Cant. 6	  Cant. 4 

			             
					   
			 

	

	 No. 8 Manguito	   
	 Cant. 2	  

		   
		

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页
#1 Bolt(10mm)

Qty.14
#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

#1 Bolt(10mm)
Qty.14

#2 Bolt(60mm)
   Qty.6

#3 Flat Washer

(6mm) Qty.14

#4 Flat Washer

(8mm) Qty.14

#5 Locking Washer
Qty.6

#6 Nut Cap
   Qty.6

#7 Nut
 Qty.4

#8 Sleeve Barrel
Qty.2

第1页

No. 3 Arandela 
plana (6mm)

No. 4 Arandela 
plana (8mm)



30

E
S
P
A
Ñ
O
L

30

Parts

 

	 (A) Unidad principal			 
			    	

			 

	 (E) Sartén rectangular	 (F) Receptor de grasa	 (G) Enfriador de bebidas	 (H) Rueda

	(I) Conjunto de las patas	 (J) Soporte de base		  (L) Barra transversal

	 (M) Sombrilla	 (N) Llaves

(B) Tapa de la Bandeja 
de calentamiento

(C) Bandeja de 
calentamiento

(D) Protector contra 
salpicaduras

(K) Agarradera 
para empujar



31

E
S
P
A
Ñ
O
L

31

ENSAMBLAJE DE LA UNIDAD PRINCIPAL 

1.	 La Agarradera para empujar (K) se fija en el lado izquierdo de la Unidad principal (A) usando 
cuatro Pernos No.1 y cuatro Arandelas planas No. 3. Fije la agarradera en su lugar colocando 
cuatro Tuercas No. 7 en el interior de la Unidad principal (A). 
 
La Agarradera para empujar (K) se fija en el lado derecho de la Unidad 
principal (A) usando cuatro Pernos No.1 y cuatro Arandelas planas No. 3.

2.	 Inserte la Barra transversal (L) en los insertos cuadrados del interior del Soporte de la base 
(J) y asegúrelos desde abajo con dos Pernos No. 1 y dos Arandelas planas No. 3. Inserte el 
Conjunto de las patas (I) por los extremos sobresalientes del Soporte de base (J) y apriételos 
desde el exterior del Soporte de base (J) hacia adentro usando cuatro Pernos No. 2, ocho 
Arandelas planas No. 4, cuatro Arandelas de presión No. 5 y cuatro Tapas de tuerca No. 6. 
 

 
 
 
 
 
 
 



32

E
S
P
A
Ñ
O
L

32

3.	 Ensamble el Soporte de base (J) en la parte inferior de la Unidad principal (A) y asegúrelo 
con cuatro Pernos No. 1 y cuatro Arandelas planas No. 3. 

ENSAMBLAJE DE LAS RUEDAS

1.	 Coloque una Arandela plana No. 4 en un Perno No. 2 e insértelo en 
el agujero abierto en el interior del Soporte de base (J).

2.	 Ponga una Arandela plana No. 4 y un Manguito No. 8 
en el extremo del Perno No.2 insertado.	  	

3.	 Coloque la Rueda (H) en el Perno No. 2. Coloque una Arandela plana No. 4 y 
una Arandela de presión No. 5 en la Rueda (H). Use el extremo de la Llave (N) 
con la muesca pequeña para sujetar en su lugar el Perno No. 2. Mientras sujeta 
el Perno No. 2 en su lugar, apriete la Tapa de tuerca No. 6 con la Llave (N).

4.	 Repita las instrucciones anteriores en el otro lado. 

(No.4) 
Arandela 

plana

(No. 2) 
Perno

(No. 4) 
Arandela 

plana

(H) Rueda

(No. 8) 
Manguito

(No. 5) 
Arandela 

de presión

(No. 6) Tapa 
de tuerca



33

E
S
P
A
Ñ
O
L

33

1.	 Coloque la Bandeja de calentamiento (C) en el espacio superior izquierdo de la 
Unidad principal (A). Cúbrala con la Tapa de la bandeja de calentamiento (B).

2.	 Inserte el Receptor de grasa (F), la Sartén rectangular (E) y el Protector contra 
salpicaduras (D) en la sección derecha de la parte superior de la Unidad principal (A).

3.	 Inserte la Sombrilla (M) en el agujero de la parte superior de la Unidad principal (A).

4.	 Ponga el Enfriador de bebidas (G) en el marco de la parte inferior del Soporte de base (J) 
debajo de la Unidad principal (A). 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ENSAMBLAJE DE ACCESORIOS



34

E
S
P
A
Ñ
O
L

34

FUNCIONAMIENTO
Antes del primer uso, lave la Bandeja de calentamiento, la Tapa de la bandeja de 
calentamiento, la Sartén rectangular, el Protector contra salpicaduras y el Enfriador 
de bebidas con un paño o esponja no abrasivos con agua jabonosa tibia. Enjuáguelos 
y séquelos completamente. Limpie el resto de la unidad con una esponja, toalla o 
paño no abrasivos húmedos y entonces séquelo con una toalla seca no abrasiva.

1.	 Primero, encuentre una superficie nivelada cerca de una toma de 
corriente. Asegúrese de que cable esté alejado de cualquier fuente 
de agua. Si es necesario, use un cable de extensión.

2.	 Reúna y prepare los ingredientes dependiendo del alimento que vaya a cocinar.

3.	 Conecte el aparato mientras que todos los interruptores 
estén colocado en la posición OFF “O”.

4.	 Para usar la Sartén rectangular, coloque el interruptor izquierdo de la parte trasera de la 
unidad en la posición ON "1". (Consulte la ilustración que aparece a continuación para 
ver la ubicación de los interruptores). Ajuste el termostato en la temperatura deseada. 
Permita que la Sartén rectangular se precaliente durante un mínimo de 10 minutos.

5.	 Coloque el alimento (perros calientes, salchichas, hamburguesas, pechugas de 
pollo, etc.) en la Sartén rectangular. Cocínelos completamente, volteándolos 
una vez. El tiempo de cocción variará dependiendo de los ingredientes.

6.	 Para usar la Bandeja de calentamiento, coloque el interruptor 
derecho de la parte trasera de la unidad en la posición ON "1". Permita 
que se precaliente durante un mínimo de 10 minutos.

7.	 Coloque el alimento que desee en la Bandeja de calentamiento y cúbrala con la 
Tapa de la bandeja de calentamiento. Caliente hasta que esté listo para servir.

8.	 Puede elegir usar la Sartén rectangular y la Bandeja de 
calentamiento de manera individual o simultánea.

9.	 Llene con hielo el enfriador de bebidas y colóquelo debajo de la Unidad principal. 
Coloque en el hielo sus bebidas enlatadas o embotelladas favoritas.

10.	 Una vez terminada la cocción, coloque todos los interruptores en la posición OFF “O”, gire el 
termostato hasta el ajuste más bajo y desconecte la unidad. 
 
 
 
POWER & HEAT SELECTION CONTROL PANEL

Izquierda:
Interruptor 
de la sartén 
rectangular

Derecha: 
Interruptor de 
la Bandeja de 

calentamiento

Centro:
Termostato



35

E
S
P
A
Ñ
O
L

35

CONSEJOS ÚTILES
•	 Utilización de la bandeja de calentamiento: 

Puede llenar la bandeja de calentamiento con alimentos tales como chiles, patatas, 
sauerkraut, etc. Permita que se precaliente aproximadamente durante 10 minutos.

Ponga los panecillos u otros tipos de pan en la Bandeja de calentamiento 
durante alrededor de 5 minutos antes de que estén listos para servir. Colocar 
el pan en la bandeja mucho antes puede provocar que se endurezcan.

También puede usar la Bandeja de calentamiento para hervir perros calientes. Simplemente 
ponga una pequeña cantidad de agua en la bandeja de calentamiento de alimentos, 
añada los perros calientes y hiérvalos. Los perros calientes deben hervir durante al menos 
8 a 10 minutos hasta que alcancen una temperatura interna de 160 a 180 grados F.

•	 Cómo evitar la formación de condensación en el exterior del carrito:
El aire frío incidente sobre la superficie caliente de la unidad puede causar la 
acumulación de humedad. Proteja la unidad de las corrientes de aire frío.

•	 Cómo evitar que se quemen los revestimientos de los perros calientes: 
Los revestimientos se quemarán si la temperatura de cocción es demasiado elevada. Si 
esto se convierte en un problema, ajuste el termostato de control en un valor más bajo.

LIMPIEZA Y MANTENIMIENTO
1.	 Asegúrese de que todos los interruptores estén en OFF (“O”) y que 

el termostato esté ajustado en la temperatura más baja.

2.	 Asegúrese de que el aparato esté desconectado de la toma de 
corriente y COMPLETAMENTE FRÍO antes de limpiarlo.

3.	 Lave la Bandeja de calentamiento, la Tapa de la bandeja de calentamiento, la Sartén 
rectangular, el Protector contra salpicaduras y el Enfriador de bebidas con un paño o 
esponja no abrasivos con agua jabonosa tibia. Enjuáguelos y séquelos completamente.

4.	 NO introduzca ningún componente de la unidad en un lavavajillas.

5.	 Use una esponja, toalla o paño no abrasivos ligeramente húmedos para limpiar el interior 
y el exterior de la Unidad principal, entonces utilice una toalla no abrasiva para secarlos.

6.	 Para preservar y mantener la vida de su Carrito con sombrilla de perros calientes, 
siempre cúbralo después de cada uso. NO guarde la unidad en exteriores. 
Guárdelo siempre en un garaje o cobertizo cubierto cuando no esté en uso.



36

E
S
P
A
Ñ
O
L

36

DEVOLUCIONES Y GARANTÍA
SI SU UNIDAD NO TRABAJA O ESTÁ DAÑADA CUANDO LA EXTRAE POR PRIMERA VEZ 
DE LA CAJA, DEVUÉLVALA INMEDIATAMENTE AL LUGAR DONDE LA COMPRÓ.

CARRITO CON SOMBRILLA DE PERROS CALIENTES DE 
LA COLECCIÓN VINTAGE / HDC510COKE

Si tiene cualquier duda, póngase en contacto con nosotros por correo electrónico o 
a través del número de atención al cliente indicado a continuación entre las 8:00 a.m. 
y las 5:00 p.m. de lunes a viernes (horario de la zona central de Estados Unidos).

Distribuido por:

Nostalgia Products Group LLC

1471 Partnership Dr.

Green Bay, WI 54304-5685

Atención al cliente

Teléfono: (920) 347-9122

Web: www.nostalgiaelectrics.com

Consultas para el Servicio de Atención al Cliente

Para enviar una consulta el servicio de Atención al Cliente vaya a www.
nostalgiaelectrics.com, rellene un formulario de consulta para el Servicio 
de Atención al Cliente y haga clic en el botón de Entregar (Submit).

Uno de nuestros agentes se pondrá en contacto con usted tan pronto como sea posible.

Este aparato se ha diseñado y fabricado para ofrecer muchos años de 
funcionamiento satisfactorio en condiciones normales de uso doméstico. 

 El distribuidor garantiza al propietario original que, en caso de que se observara 
cualquier defecto de los materiales o la mano de obra durante los primeros 90 días a 
partir de la compra, nosotros decidiremos reparar o cambiar la unidad. Nuestra garantía 
no incluye daños causados por el transporte, la manipulación incorrecta o caídas de 
la unidad. La consideración de que un producto es defectuoso debido a la fabricación 
o a una manipulación incorrecta será a discreción del distribuidor. Para realizar una 
reparación bajo esta garantía, póngase en contacto con Nostalgia Products Group, 
LLC en el número de teléfono indicado anteriormente o rellenando el Formulario de 
Consulta para el Servicio de Atención al Cliente en www.nostalgiaelectrics.com.

No se recomienda el uso de este producto fuera de Norteamérica. La garantía se 
anulará si los productos se exportan fuera de los Estados Unidos, Canadá o México.

Esta garantía no es válida para productos remanufacturados.

Por favor, lea estas instrucciones cuidadosamente. El incumplimiento de estas 
instrucciones, los daños causados por repuestos inapropiados, el abuso o mal 
uso, anularán este compromiso hacia usted y cualquier otra garantía expresa.

Para obtener más información, visítenos en línea en www.nostalgiaelectrics.com. 
Me Gusta en Facebook en www.facebook.com / NostalgiaElectrics. 
Siga nuestros consejos sobre Pinterest en www.pinterest.com / nostalgiaelctrx. 
Tweet con nosotros en Twitter en www.twitter.com / NostalgiaElctrx.


